loct 5 L&M-ch induction

§ a [WP cr:F wwe  mesing n nun-un:jQum B- fbdz(

—

wl o fe Vet

A B ABa—7 1

@”B'L’/Lﬁw n 274;775'
LS p
X X Ef

Lab ‘Fvwml with Zro E )Clﬂu &

. | _PTE_ Lu(pp

—_ §?»d§= %_)(84—83),.1 dﬂaf"ﬂ’\ﬂ P/mj?( B-Q C .z)
. S

or we defing mapetic Pl g_)—:Jda‘B

f@i - B, [, vat- B, L vat - (81‘8:) Lv ;>
ot a4t

daetp the fac;tﬂuut thae s no magnetic charge V@):o, the flux
?m&ﬁi‘iv\g a S‘wfa& cmlé} lependls om the boumluy , As ﬁm} as the
bﬂw\a&m} i QFQCi.f{M() it doesn't matte, which S%’t’]aa(,e,s &OM. measurye

~.)

& mn afso be Mp(esehﬁd as

8-+ §(3x"§).cl<"

—

/A




D

el %}% e doitps by, | the flux * by he valuceal
Current Showlol be i an opposite
Ex: % y ) divection 4, He Chaspe oF ¢,
= Brwts (ht @ itself, but dp!
< A o &)

§: o Slatirary Lvp ina Chonging B - Jielsl

In the COTY\U\N‘/'\& jF)'UW‘-Q ' thove exists electric ﬁda( ,E’. The emf ’S Pme,g

)} , ! - %I —)/ 17- qi
?WW&O( ba E , EI - - U'XB - X B
/ ‘ - q._..__c
Py qf : af l d@/
§'€"ng = -[—J—'g (.BII—BJ.) aaﬂ\m 8 = '—E W

ploase note that  we el £ we &', B andt’ Cuf\sfs‘fmd%,




§ muctual conducton 2
T oncidder Two quwent  Lewps C anol G (position fWe@i,
B
1' ) | C)_ % «Fvuw\ ], ?Uw,,?{\ '@W—F CZ

/ . 3 i
A ) i%. = HB da, & I,-Gns
l S N 3

:> 82[ = - Gonst ’ dl’ = _ledll

c de ot
gimlﬁaﬂg we (on aloudste Ye en in dovp 1, gonoratest by the Qurent
8 : -Mu O_Q__I_z_ C/wj;ﬂ °‘fcz.
12 dj:
A\ Ex: Blﬁﬂmm"{ﬁzr%
- al - 2 AL a1, Rf
TR, &R T
3 e --R, di 2R3
/ \ l CLR' di . \ML\ = C.7‘9|
] | f—
LM] = HQJ = ._[.V_UH,_] —_—
Md ' [Amr]/[g] PMS 04“2 Ri, Ry
e nt g}ww@mic

oot B [y = oy

~ b, - § A B2 N :_% df; -olf,
c, > 4 Y

= 3 D % ITH
AR 1Y, o ddl — m
S A 7 M= _é_ii. R ’




—

S Se%)- rdintince — the @ﬂ\f " JZWPC; Wo@x f)g,"ljuz

o

PR dd, c}\m)g&u:{f comrent T,
WS- —

dt

40

- - L5
> Biﬂr~_5hll =

1 %
§cwumtoﬂd'o~iw\s R cmdl 4, l"~—_=3f—‘ 1< &
' d1 u | K
U-IR— &'L'a—x 5 \T }

’L Yre,vemt 42 J"M“f “12 Cunren K, 1

- R/+
ot oft (il S LB 1°i> )

§ Treryy loved in maphotic {etdd
The em,% oQ(SS‘chun m R
U= Rff&)dﬁ=RL§Q = .O‘G-DL%:LL




Considler @ ol / ¢=
AR eI
41 N°S 12 V7 _
= U=7 € ¢ 1 >3-
4 NIV G B Vet S
= (‘g '{“> ‘%—é T 8T
N S = BZ
2 onorpy nggratic) densty = 2
—_ Wde_gg 1 ®rum-um.‘:Pm E oawol B‘f@@j

u= = [ + B ) dun

.t






